

**Department of Transportation
Office of the Chief Information Officer
Supporting Statement**

Rulemaking, Special Permits and Preemption Requirements
OMB Control No. 2137-0051

(Expiration Date: April 30, 2014)

Introduction

This information collection was originally initiated in 1981 as a means for regulated entities to propose new or revised safety standards that deviated from the Hazardous Materials Regulations (HMR; 49 CFR Parts 100-180). Since that time, it has evolved to include an accounting of the burden associated with the rulemaking, special permits, and preemption requirements as specified in the HMR. This is to request the Office of Management and Budget's (OMB) renewed three-year approved clearance for the information collection entitled, "Rulemaking, Special Permits and Preemption Requirements" (OMB Control No. 2137-0051), which is currently due to expire on April 30, 2014.

Part A. Justification.

1. Circumstances that make collection of information necessary.

This is a request for renewal without change of an existing approval under OMB No. 2137-0051, applicable to the HMR. This information collection supports the Departmental Strategic Goal for Safety. The HMR are promulgated in accordance with U.S.C. 5110, the Federal hazardous materials transportation law. The various information collection and recordkeeping requirements applicable to procedures pertaining to rulemaking, special permits and preemption are discussed in the following paragraphs.

This collection of information applies to rulemaking procedures regarding the HMR. Specific areas covered in this information collection include Part 105, Subpart A and Subpart B, "Hazardous Materials Program Definitions and General Procedures;" Part 106, Subpart B, "Participating in the Rulemaking Process;" Part 107, Subpart B, "Special Permits;" and Part 107, Subpart C, "Preemption." The Federal hazardous materials transportation law directs the Secretary of Transportation to prescribe regulations for the safe transportation of hazardous materials in commerce. The Pipeline and Hazardous Materials Safety Administration (PHMSA) is authorized to accept petitions for rulemaking and appeals, as well as applications for special permits, preemption determinations and waivers of preemption.

2. How, by whom, and for what purpose is the information used.

The information collected under these application procedures is used in the review process by PHMSA in determining the merits of the petitions for rulemakings and for reconsideration of rulemakings, as well as applications for special permits, preemption determinations and waivers of preemption to the HMR. The procedures governing these petitions for rulemaking and for reconsideration of rulemakings are covered in Subpart B of Part 106. Applications for special

permits, preemption determinations and waivers of preemption are covered under Subparts B and C of Part 107. Rulemaking procedures enable PHMSA to determine if a rule change is necessary, is consistent with public interest, and maintains a level of safety equal to or superior to that of current regulations. Special permit procedures provide the information required for analytical purposes to determine if the requested relief provides for a comparable level of safety as provided by the HMR. Preemption procedures provide information for PHMSA to determine whether a requirement of a State, political subdivision, or Indian tribe is preempted under 49 U.S.C. 5125, or regulations issued thereunder, or whether a waiver of preemption should be issued.

3. Extent of automated information collection.

The burden has been made as simple as possible. The information requested is necessary to ensure safe operations, and is considered critical in making evaluations and assuring safe transportation of hazardous materials. The Government Paperwork Elimination Act directs agencies to allow the option of electronic filing and recordkeeping by October 2003, when practicable. Electronic filing and recordkeeping is authorized.

4. Efforts to identify duplication.

The collection of this information has been in effect for many years and is unique to the Hazardous Materials Regulations. There is no duplication, as the information requested is not required by any other source. Each response is unique and information derived from one may not be inferred to another. In addition, we have received no indication of duplication.

5. Efforts to minimize the burden on small businesses.

Because this information is unique, similar information is unavailable. This information collection provides affected entities, including small businesses, the opportunity to obtain a special permit from certain regulatory requirements, to submit petitions for rulemaking that could relax regulatory requirements, clarify and simplify the regulations, and to petition for preemption of non-conforming State regulations that may cause an undue burden. In addition, the collection of this information is reviewed periodically to ensure that the requirements involving safety in the transportation of hazardous materials are kept to the necessary standards to protect all involved.

6. Impact of less frequent collection of information.

Since affected entities are not required to apply for special permits, petition for rulemaking, or request a pre-special permit determination, there is no mandatory information collection that applies to all regulated entities. Only those entities seeking regulatory change or relief are subject to this information collection. The frequency, for the most part, is determined by those affected. Subsequently, it is not possible to conduct the collection less frequently.

7. Special circumstances.

This collection of information is generally conducted in a manner consistent with the guidelines in 5 CFR 1320.5(d)(2) with the following qualifications:

Requiring respondents to retain records, other than health, medical, government contract, grant-in-aid, or tax records more than three years.

8. Compliance with 5 CFR 1320.8.

A 60-Day Notice and Request for comments on the renewal of this information collection was published in the Federal Register on October 25, 2013 [78 FR 64049] under Docket No. PHMSA-2013-0002 (Notice No. 13-14). The comment period closed on December 24, 2013. No comments were received pertaining to this information collection. A 30-Day Notice and Request for comments was published in the Federal Register on December 30, 2013 [78 FR 79561] also under Docket No. PHMSA-2013-0002 (Notice No. 13-22). No comments were received pertaining to this information collection.

9. Payments or gifts to respondents.

There is no payment or gift provided to respondents associated with this collection of information.

10. Assurance of confidentiality.

None of the data collected contain personally identifiable information (PII) or business confidential information. Therefore, no guarantees of confidentiality are provided to applicants.

11. Justification for collection of sensitive information.

No sensitive information is required.

12. Estimate of burden hours for information requested.

4,899 hours Currently approved

Estimate of burden costs for information requested.

\$279,200 Total Annual Burden Costs

Estimate of the annual hour burden:

$224 + 720 + 1,815 + 40 + 865 + 840 + 240 + 5 + 150 = 4,899$ hours.

Estimate of annual cost burden:

$\$11,200 + \$144,000 + \$36,300 + \$800 + \$34,600 + \$33,600 + \$9,600 + \$100 + \$9,000 = \$279,200.$

(a) Sections 106.95 and 106.105 -- 28 respondents will each spend approximately 8 hours preparing and submitting the information contained in the average petition for rule change for a total information collection of 224 hours.

28 respondents x 8 hours per response = 224 burden hours.

Based on an estimate of \$50 per hour in salary costs, including professional and clerical times, the annual cost for petitions for rulemaking is \$11,200.

224 burden hours x \$50 average hourly wage = \$11,200 burden cost.

(b) Sections 107.105, 107.107, 107.109, 107.113, 107.117, 107.121, 107.125, 107.127 and Part 107 Subpart B, Appendix B and special permit holder recordkeeping and information collection burdens are based on:

(1) Receipt of approximately 12 requests for new special permits monthly for a total of 144 requests annually. Each request is estimated to take approximately 5 hours to complete for a total information collection burden of 720 hours for new special permit applicants.

12 requests per month x 12 months = 144 annual requests x 5 hours per request = 720 burden hours.

The estimated salary costs for developing the necessary information and data necessary for an special permit application is \$ 1,000 including professional, clerical engineering, etc. costs. The total yearly cost for the special permit application process is \$ 144,000.

144 annual requests x \$1,000 average hourly wage = \$144,000 burden cost.

(2) The recordkeeping and information collection burden for special permits is based on an average of one report received from each of the approximately 1,815 holders or parties to 1,000 special permits. This includes shippers and carriers of hazardous materials and manufacturers of containers for hazardous materials. The reporting burden will vary due to the type of report that is filed. Reports of damaged/leakage special permits packaging is estimated to take approximately one-half (1/2) hour plus one-half (1/2) hour to record and store the required information to make the report on shipping experience. Therefore, the annual information collection burden is 907.5 hours plus the recordkeeping burden is 907.5 hours, or 1,815 hours.

1,815 reports x ½ hour to report damaged/leakage special permits packaging +

1,815 reports x ½ hour to record and store required information =

907.5 + 907.5 = 1,815 burden hours.

The reports and records required by the special permit process will take approximately 1,815 hours at approximately \$ 20 per hour. The total cost is estimated to be \$ 36,300.

1,815 reports x \$20 average hourly wage = \$36,300 burden cost.

(3) An approximate average of 20 requests for U.S. Agent is received annually in conjunction with special permit applications. These requests are estimated to take approximately 2 hours to prepare. The total annual information collection burden for this requirement is approximately 40 hours.

20 annual requests x 2 hours to prepare special permit applications = 40 burden hours.

The average hourly wage to complete the special permit application requirement is estimated at approximately \$40 per request. The total is approximately \$ 800.

20 annual requests x \$40 average hourly wage = \$800 burden cost.

(4) The requirements for applying for a special permit require an applicant to provide sufficient information about its operations to enable the agency to evaluate the applicant's fitness and the safety impact of operations that would be authorized in the special permit.

3,500 responses x approximately 15 minutes = 52,500 minutes = 865 hours. In addition, at an average hourly wage of approximately \$40.00 for a person responsible for furnishing this information, we estimate the additional costs to be \$34,600.

(c) An average of 70 renewal requests are received monthly or approximately 840 requests annually. It is estimated that it takes approximately 1 hour to prepare a request for renewal. Therefore, the annual burden is 840 hours.

70 requests per month x 12 months = 840 annual requests x 1 hour per request = 840 burden hours.

Administrative, professional and clerical costs for assembling and mailing special permit renewal requests is estimated at \$40 per hour, for a total cost of \$33,600.

840 annual requests x \$40 average hourly wage = \$33,600.

(d) Approximately 20 requests to become a party to a special permit are received monthly for an annual total of 240 requests. Each request takes approximately one hour to complete for an annual information collection total of 240 hours.

20 requests per month x 12 months = 240 annual requests x 1 hour per request = 240 burden hours.

The cost for preparing a request for party-to status is estimated at approximately \$40 per hour for administrative and clerical costs. The total cost is approximately \$9,600.

240 annual requests x \$40 average hourly wage = \$9,600.

(e) An average of 20 requests for confidential handling is received annually. Each request is estimated to take approximately 15 minutes to prepare as it involves only the identification of materials in a document of items that are confidential and the preparation of a second document with these items deleted. The total annual burden is five hours.

20 annual requests x 15/60 minutes per requests = 5 burden hours.

The estimated cost is \$20 per hour for administrative and clerical time. The total cost is approximately \$100.

20 annual requests x 15/60 minutes per request x \$20 average hourly wage = \$100.

(f) Sections 107.201, 107.202, 107.203, 107.205, 107.209, 107.211, 107.215, 107.217, 107.219 107.221, 107.223. PHMSA receives about 2 applications a year for preemption determinations. It is estimated that preparation of each preemption determination application takes approximately 40 hours. Applicants' responses to comments are estimated to require an additional 20 hours each. PHMSA receives approximately 1 petition for reconsideration a year, and preparation is estimated to take approximately another 30 hours. Total information collection hours for the preemption process are estimated to be 150 hours.

2 applications per year x 40 hours per application +

2 responses per year x 20 hours per response +

1 petition per year x 30 hours per petition =

80 + 40 + 30 = 150 burden hours.

The cost for preparing a request for preemption is estimated to be approximately \$ 60 per hour for legal, administrative and clerical time. The total estimated annual costs to respondents for all these activities (legal, administrative, and clerical) at \$60 per hour is \$9,000.

150 burden hours x \$60 average hourly wage = \$9,000.

13. Estimate of total annual costs to respondents.

There is no cost burden to respondents except as identified in item 12 above.

14. Estimate of cost to the Federal government.

The estimated annualized cost to the Federal Government is approximately \$ 898,900.

(a) Sections 106.31 and 106.33: docketing, review, evaluation and processing of notices of proposed rulemakings and amendments based on petitions for rulemaking -- 2 hazardous materials specialists spending approximately 1,040 hours each on petitions for rulemaking at a cost of approximately \$27.40 per hour = \$ 57,000; one clerical spending approximately 1,040 hours at \$10 per hour in salary = \$10,400. Total cost is approximately \$67,400.

2 specialists x 1,040 hours x \$27.40 per hour in salary + 1 clerk x 1,040 hours x \$10 per hour in salary = \$56,992 + \$10,400 = \$67,392 or approximately \$67,400.

(b) Sections 107.105, 107.107, 107.109, 107.113, 107.117, 107.121, 107.123, and 107.125.

(1) Costs to the Federal government for these sections include review by personnel in the Office of the Office of Approvals and Permits (OAP) and the Office of Engineering and

Research (OER). Costs in OAP include six professionals and two clericals plus one-third of the Office Director's time costs are approximately \$400,000 annually. OER costs include 50% of the time for ten professional and two clericals plus one-third of the Office Director's time costs, and are estimated at \$400,000 annually. Total annual costs for special permits and confidentiality requirements are approximately \$800,000.

(c) Sections 107.201, 107.202, 107.205, 107.209, 107.219, 107.221, 107.223. Two staff lawyers and other administrative personnel on a part-time basis account for approximately 700 hours at approximately \$ 31,500 annually to manage the preemption process. PHMSA receives an average of 2 requests a year.

15. Explanation of program changes or adjustments.

There is no change in burden.

16. Publication of results of data collection.

There is no publication for statistical use, and no statistical techniques are involved.

17. Approval for not displaying the expiration date of OMB approval.

This information collection OMB Control number is prominently displayed in the HMR under § 171.6, "Control Numbers under the Paperwork Reduction Act."

18. Exceptions to certification statement.

There is no exception to PHMSA's certification of this request for information collection approval.